
SYNOPSIS - λύω$

$

$

$$

PRESENT PROGRESSIVE SYSTEM - λύω
Active Middle-Passive

Present Indicative 1st sing.

2nd sing.

3rd sing.

1st pl.

2nd pl.

3rd pl

Present Imperative 2nd sing.

2nd pl.

Active Middle-Passive

Present Participle Nom. sing.

Present Infinitive

Active Middle-Passive

Imperfect Indicative 1st sing.

2nd sing.

3rd sing.

1st pl.

2nd pl.

3rd pl



SYNOPSIS - λύω$

$

$$

FUTURE SYSTEM - λύω
Active Middle

Future Indicative 1st sing.

2nd sing.

3rd sing.

1st pl.

2nd pl.

3rd pl

Active Middle

Future Participle Nom. sing.

Future Infinitive



SYNOPSIS - λύω$

$

$$

AORIST SYSTEM - 1st Aorist - λύω
Active Middle

Aorist Indicative 1st sing.

2nd sing.

3rd sing.

1st pl.

2nd pl.

3rd pl

Aorist Imperative 2nd sing.

2nd pl.

Active Middle

Aorist Participle Nom. sing.

Aorist Infinitive

AORIST SYSTEM - 2nd Aorist - λείπω
Active Middle

Aorist Indicative 1st sing.

2nd sing.

3rd sing.

1st pl.

2nd pl.

3rd pl

Aorist Imperative 2nd sing.

2nd pl.

Active Middle

Aorist Participle Nom. sing.

Aorist Infinitive


